Model

Wind Tunnel
Operations

Manual
Materials
	Removable Components
	Quantity

	5/16"-18 x 2" Bolts
	22

	5/16"-18 x 1.25" Bolts
	8

	5/16"-18 Nuts
	22

	Turn 3 and 4 Support Bar
	2

	Turn 3 and 4 Cover
	2

	Turn 1and 2 Support Bar 
	2

	Turn 1and 2 Cover
	2

	Fan Section
	1

	Test Section
	1

	Contraction Cone
	1


Tools Required

· Two 5/16” Wrenches 
I. – Turn # 2 Turning Vane Adjustment


Parts:
· Four 5/16”-18 x 1.25” Bolts
· One 5/16”-18 x 2 Bolt
· One 5/16”-18 Nut
· Two small turn support bars
· One small turn cover
[image: image1.png]




Turn # 2 Disassembly Instructions:
1. Loosen and remove the four 5/16”-18 x 1.25” bolts from threaded holes. (Labeled 1,2,3,4)

2. Loosen and remove the one 5/16”-18 x 2” bolt and one 5/16”-18 nut. (Labeled 5)

3. Remove two support bars held in place by bolts 1-4.

4. Remove turn # 2 cover.

5. Adjust turn # 2 turning vanes.
II. - Fan Section Removal:

Parts:
· Eight 5/16”-18 x 2 Bolts

· Eight 5/16”-18 Nuts

[image: image2.png]



Fan Section Removal Instructions:
1. Loosen and remove eight 5/16”-18 x 2” bolts and eight 5/16”-18 nuts. (Labeled 5 – 11)

2. Loosen and remove one 5/16”-18 x 1.25” bolt from threaded hole. (Labeled 3)

3. Remove Fan Section.

III. – Contraction Cone Removal:

Parts:

· Seven 5/16”-18 x 2” Bolts
· Seven 5/16”-18 Nuts
[image: image3.png]




Contraction Cone Removal Instructions:
1. Loosen and remove seven 5/16”-18 x 2” bolts and seven 5/16”-18 nuts. (Labeled 12 – 18)

2. Remove Contraction Cone.

IV. – Test Section Removal:

Parts:
· Eight 5/16”-18 x 2” Bolts

· Eight 5/16”-18 Nuts

[image: image4.png]




Test Section Removal Instructions:
1. Loosen and remove eight 5/16”-18 x 2” bolts and eight 5/16”-18 nuts. (Labeled 15 – 22)

2. Remove Test Section.
V. – Turn # 1 Turning Vane Adjustment


Parts:
· Four 5/16”-18 x 1.25
· Two small turn support bars

· One small turn cover

[image: image5.png]





Turn # 1 Disassembly Instructions:
1. Loosen and remove four 5/16”-18 x 1.25” bolts. (Labeled 23 – 26)

2. Remove two support bars held in place by bolts 23 – 26.

3. Remove turn # 1 cover.

4. Adjust turn # 1 turning vanes.

VI. – Turn # 3 and Turn # 4 Turning Vane Adjustment


Parts:
· Four 5/16”-18 x 2” Bolts

· Four 5/16”-18 Nuts

· Two large turn support bars

· Two large turn covers

[image: image6.png]




Turn # 3 and Turn # 4 Disassembly Instructions:
1. Loosen and remove four 5/16”-18 x 2” bolts and 5/16”-18 nuts. (Labeled 27 – 30)
2. Remove two support bars.

3. Remove two turn covers.

4. Adjust turn # 3 and turn # 4 turning vanes.

VII. – Fan Operation


Parts: 
· High Speed and Low Speed Switch

[image: image7.png]

Fan Operation Instructions:
1. Connect switch assembly to 120V power source. Make sure both switches are in “OFF” position. 
2. Select desired fan speed and move corresponding switch to “ON” position. (Labeled 31)
3. Turn fan switches to “OFF” position once testing in complete.

4. Disconnect switch assembly from power source.

! Caution: Never have both switches in “ON” position simultaneously! 
Numeric Label Index
	Turn # 2
	 

	 
	1
	5/16"-18 x 1.25" Bolt

	
	2
	5/16"-18 x 1.25" Bolt

	
	3
	5/16"-18 x 1.25" Bolt

	
	4
	5/16"-18 x 1.25" Bolt

	
	5
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	Fan Section
	 

	 
	3
	5/16"-18 x 1.25" Bolt

	
	5
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	6
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	7
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	8
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	9
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	10
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	11
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	Contraction Cone
	 

	 
	12
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	13
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	14
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	15
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	16
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	17
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	18
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	Test Section
	 

	 
	15
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	16
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	17
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	18
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	19
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	20
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	21
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	22
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	Turn # 1
	 
	 

	 
	23
	5/16"-18 x 1.25" Bolt

	
	24
	5/16"-18 x 1.25" Bolt

	
	25
	5/16"-18 x 1.25" Bolt

	
	26
	5/16"-18 x 1.25" Bolt

	Turn #'s 3 and 4
	 

	 
	27
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	28
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	29
	5/16"-18 x 2" Bolt & 5/16"-18 Nut

	
	30
	5/16"-18 x 2" Bolt & 5/16"-18 Nut


1

